AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Station and Location: KPRL-AM KODA-	Am	Date:
KTRH-AM	Harston, TX	10/4/2018
I,	ないのろ me concerning the following issue:	
Harris Can'ty Popu	I han Party Ludges	

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
•					

This broadcast time will be used by:	
--------------------------------------	--

THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT "COMMUNICATES A POLITICAL MATTER OF NATIONAL IMPORTANCE." FOR ALL OTHER ISSUE ADS, PLEASE GO TO PAGE 3.

Programming that "communicates a political matter of national importance" includes (1) references to legally qualified candidates (presidential, vice presidential or congressional); (2) any election to Federal office (e.g., any references to "our next senator", "our person in Washington" or "the President"); and (3) a national legislative issue of public importance (e.g., Affordable Care Act, revising the IRS tax code, federal gun control or any federal legislation).

Does the programming (in whole or in par relating to any political matter of na ☐ Yes	그 가게 그리는 그들은 소리의 경향을 하면 되는 것 같습니다. 그 전에 가는 것이 되는 것이 되었다고 있는 소리를 하는 것이 없다면 살아 있다.
For programming that "communicates a message relational importance," list the name of the legally qualifieders to, the offices being sought, the date(s) of the exhibit which the communication refers (if applicable):	ified candidate(s) the programming
I represent that the payment for the above described by (name and address):	broadcast time has been furnished
and you are authorized to announce the time as paid (hereinafter referred to as the "sponsor").	for by such person or entity
List the chief executive officers or members of the executive officers or members of the executive control of the executive officers or members of the executive officers of the executive of the executive officers of the executive officers of the executive officers of the executive of the e	ecutive committee or the board of

For programming that "communicates a message relating to any political matter of national importance," attach Agreed Upon Schedule (Page 5)

THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT DOES NOT "COMMUNICATE A POLITICAL MATTER OF NATIONAL IMPORTANCE"

I represent that the payment for the above described broadcast time has been furnished

by (name and address):
Herris County Republican Party
Harris County Republican Party 2501A Central PKNY A-11 Haston, TX 77092
and you are authorized to announce the time as paid for by such person or entity (hereinafter referred to as the "sponsor").
List the chief executive officers or members of the executive committee or the board of directors below (or attach separately):
Attended
경찰 등이 통하는 것으로 보는 이 사람들이 하면 소속하는 것으로 가득하게 하는 사람들은 사람들을 가입하게 되었다. 그렇게 되었다.

2 ...

TO BE COMPLETED FOR ALL ISSUE ADVERTISEMENTS

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

The Sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, that may ensue from the broadcast of the above-requested advertisement(s). For the above-stated broadcast(s), the sponsor also agrees to prepare a script, transcript, or tape, which will be delivered to the station at least ______ before the time of the scheduled broadcasts.

TO BE	SIGNED BY ISSUE ADVERTISER (S	SPONSOR)
10/4/2018		713-515-3971
Date	/ Signature	Contact Phone Number

TO BE SIGNED BY STATION REPRESENTATIVE

Accepted	☐ Accepted in Part	☐ Rejected
V Lot Windly	Rad Windham	Director & Political Shappard
Signature	Printed Name	Title

From: Chris Beavers Carros Beavers

Subject: HCRP Officers

Date: Oct 4, 2018 at 12:19:08 PM

To: Chris A. Beavers

OFFICERS

Office	Name
County Chair	Paul Simpson
Vice-Chairman	Cynthia Siegel
Secretary	Debra Risinger
Treasurer	
Legal Counsel	Will Hickman
Sergeant-at-arms	Joe Pennington
Parliamentarian	Theresa Kosmoski
Chaplain	Beverly Ferguson

Chris A. Beavers
Beavers Media & Communications

Harris County Republican Party - Insertion Order

October 4, 2018

Rod – below is the insertion for HCRP for next week. I will bring forms and check by later this afternoon. Audio files to follow tomorrow, electronically.

* * * * * * * * * * * * * * * * * * *	Net total	\$297.50	\$297.50	05.7525	24,420.00	\$,080.00	75, 397, 50		\$18,869.50
More contracts		523.73	57.625	CA.030	20,244	00.0040	\$539,75	-	Net Total:
Gross total	222000	00.000	3350.00	\$5 200 00	\$4.800.00	20.000	\$6,350.00	,	\$22,200
Total units		2 0	9 01) C	유		Gross Total :
Gross cost/unit 1		\$35.00	\$35.00	\$520.00	\$480.00	\$480.00	\$635.00		
requency Date	2 Oct. 8 - Oct. 12	2 Oct. 8 - Oct. 12	2 Oct. 8 - Oct. 12	2 Oct. 8 - Oct. 12	2 Oct. 8 - Oct. 12	2 Oct. 8 - Oct. 12	2 Oct. 8 - Oct. 12		
Ĕ	AMD	QW QW	PMD	AMD	MD MD	PMO	DWD		
	news/talk	news/talk	news/talk	news/talk	news/talk	news/talk	adult contemporary		
Station	KPRC	KPRC	み の の の の の の の の の の の の の	XIRT I	X TX TX	KTRH	KODA		

Chris A. Beavers

Beavers Media & Communications

713-515-3971



Page 1 of 4 Printed: 10/05/2018 15:57:21

HARRIS COUNTY REPUBLICAN PARTY c/o Beavers Media and Communicaion

8925 Briar Forest Dr

Houston, TX 77024

Advertiser No: Start Date: End Date:

Month Type: Entered: Last Update: Spl Req inv: ΑĒ:

Note: Note 2: 174764 10/08/2018 10/12/2018 Calendar 10/05/2018 11:23 AM by Fusion

10/05/2018 12:04 PM by 1115695

WINDHAM, ROD

Order No: Contract/Code #: 1318709236

Co-op: Package:

Νo

CPE; Revision #:

0 Agency Comm.: 15%

Market Station	Bind To	Start Date	End Date		On Air Sc W. Da		Skip W.	M	т	w	т	F	s	s	Spots/ W. Cop	py Group	Spot Len.	Priority Revenue Ty	Rate pe	Ord. Spots	Ord. Cost
1 Houston	06:00-10:00	10/08/18	10/12/18	1	1	5	0	х	х	Х	х	х			10 148 18/4	5718 HCRP-GenElec2018/30	30	500	35.00	10	350.00
KPRC-AM 2 Houston	Commercial 06:00-10:00	10/08/18	10/12/18	1	1	5	0	x	x	x	x	х			10 148		30	Local Agency 500	-Political 35.00	10	350.00
KPRC-AM 3 Houston	Commercial 10:00-15:00	10/08/18	10/12/18	1	1	5	0	x	x	x	x	x			10 148		30	Local Agency 500	-Political 35.00	10	350.00
KPRC-AM 4 Houston	Commercial 15:00-19:00	10/08/18	10/12/18	1	1	5	0	x	x	x	x	х			10 148		30	Local Agency 500	-Political 35.00	10	350.00
KPRC-AM 5 Houston	Commercial 06:00-10:00	10/08/18	10/08/18	1	1	1	0	х							2 148		30	Local Agency 500	-Political 520.00	2	1,040.00
KTRH-AM 6 Houston	Commercial 06:00-10:00	10/09/18	10/09/18	1	1	1	0		x						2 148		30	Local Agency 500	Political 520.00	2	1,040.00
KTRH-AM 7 Houston	Commercial 06:00-10:00	10/10/18	10/10/18	1	1	1	0			х					2 148		30	Local Agency 500	Political 520.00	2	1,040.00
KTRH-AM 8 Houston	Commercial 06:00-10:00	10/11/18	10/11/18	1	1	1	0				x				2 1485		30	Local Agency 500	Political 520.00	2	1,040.00
KTRH-AM 9 Houston	Commercial 06:00-10:00	10/12/18	10/12/18	1	1	1	0					х			2 1485		30	Local Agency 500	Political 520.00	2	1,040.00
KTRH-AM 10 Houston	Commercial 10:00-15:00	10/08/18	10/08/18	1	1	1	0	х							2 1485		30	Local Agency 500	Political 520.00	2	1,040.00
KTRH-AM	Commercial														tom	1011F-G611L1862010/30		Local Agency-	Political		



Page 2 of 4 Printed: 10/05/2018 15:57:21 Order No: 1318709236

Market Station	Bind To	Start Date	End Date	No Of W.	Air S	Sch Days	Skip W.	M	т	w	т	F	s	s	Spots/ W.	Copy Group	Spot Len.	Priority Revenue Typ	Rate	Ord. Spots	Ord. Cost
11 Houston	10:00-15:00	10/09/18	10/09/18	1	1	1	0		х							1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial															16/HCKF-GenElecz016/50		Local Agency-F	Delition		
12 Houston	10:00-15:00	10/10/18	10/10/18	1	1	1	0			X						1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial																	Local Agency-F	Political		
13 Houston	10:00-15:00	10/11/18	10/11/18	1	1	1	0				X					1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial															30112.002010,00		Local Agency-F	Political		
14 Houston	10:00-15:00	10/12/18	10/12/18	1	1	1	0					X				1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial																	Local Agency-P	Political		
15 Houston	15:00-19:00	10/08/18	10/08/18	1	1	1	0	X							2	1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial																	Local Agency-P	Political		
16 Houston	15:00-19:00	10/09/18	10/09/18	1	1	1	0		X							1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial															30112102010100		Local Agency-P	Political		
17 Houston	15:00-19:00	10/10/18	10/10/18	1	1	1	0			x						1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial																	Local Agency-P	olitical		
18 Houston	15:00-19:00	10/11/18	10/11/18	1	1	1	0				х					1485718 18/HCRP-GenElec2018/30	30	500	520.00	2	1,040.00
KTRH-AM	Commercial																	Local Agency-P	olitical		
19 Houston	15:00-19:00	10/12/18	10/12/18	1	1	1	0					Х				1485718 18/HCRP-GenElec2018/30	30		520.00	2	1,040.00
KTRH-AM	Commercial																	Local Agency-Po	olitical		
20 Houston	15:00-19:00	10/08/18	10/08/18	1	1	1	0	Х								1485718 18/HCRP-GenElec2018/30	30		520.00	2	1,040.00
KODA-FM	Commercial																	Local Agency-Pe	olitical		
21 Houston	15:00-19:00	10/09/18	10/09/18	1	1	1	0		X							1485718 18/HCRP-GenElec2018/30	30		520.00	2	1,040.00
KODA-FM	Commercial															•		Local Agency-Po	olitical		
22 Houston	15:00-19:00	10/10/18	10/10/18	1	1	1	0			х						1485718 18/HCRP-GenElec2018/30	30		520.00	2	1,040.00
KODA-FM	Commercial																	Local Agency-Po	olitical		
23 Houston	15:00-19:00	10/11/18	10/11/18	1	1	1	0			1	X					1485718 18/HCRP-GenElec2018/30	30		520.00	2	1,040.00
KODA-FM	Commercial																	Local Agency-Po	olitical		
24 Houston	15:00-19:00	10/12/18	10/12/18	1	1	1	0				3	x				485718 8/HCRP-GenElec2018/30	30		520.00	2	1,040.00
KODA-FM	Commercial																	Local Agency-Po	olitical		



Page 3 of 4 Printed: 10/05/2018 15:57:21 Order No: 1318709236

No. of Spots/Misc/Digital: 80/0/0

Ordered Gross: Agency Commission: \$22,200.00 \$3,330.00 \$18,870.00

Ordered Net:

Total Net Due:

\$18,870.00

	Oct	Nov	Dec	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct
Amount Ord:	80	0	0	0	0	0	0	0	0	0	0	0	0
Gross:	22,200.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Net:	18,870.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

When signed below, this is a contract for advertising on the radio stations named above, made with the owner of those stations, subject to those terms and conditions beginning on the last page of this Order Confirmation. Except when this contract is executed by advertiser itself, it is agreed that advertiser's agency makes this contract both for itself and

Cart No

Accepted for Company: _ Accepted for Advertiser:

Participating Customers HARRIS COUNTY REPUBLICAN PARTY

Spot Title

100%

Spot Rotation

Spot ID

Rotation

COPY GROUP: 18/HCRP-GenElec2018/30

1485718